

Department - Mathematics (GRDC K1)

Faculty Name - Dr. Mani Shankar Mandal

Semester - IV

Subject - Linear Algebra

Paper - BMHA C C 10

Topic - Linear Transformation.

Linear Transformation

05/09/2020

Let V and W be vector space over the same field, say, F . A linear transformation from V to W is a function T from V to W s.t.,
 $T(cx + y) = cT(x) + T(y)$, $\forall x, y \in V$
and $c \in F$.

Examples

1. Let $T: \mathbb{R}^2 \rightarrow \mathbb{R}^2$ defined by

$$T(x_1, x_2) = (x_2, x_1), \text{ let } (x_1, x_2), (y_1, y_2) \in \mathbb{R}^2$$

and $c \in F$.

$$\text{Now, } T(c(x_1, x_2) + (y_1, y_2)) = T(cx_1 + y_1, cx_2 + y_2)$$

$$= (cx_2 + y_2, cx_1 + y_1)$$

$$= c(x_2, x_1) + (y_2, y_1)$$

$$= cT(x_1, x_2) + T(y_1, y_2)$$

i.e. T is a linear transformation from

$$\mathbb{R}^2 \text{ to } \mathbb{R}^2.$$

The identity transformation defined on a vector space V , is a linear transformation from V to V . Also the zero transformation is a linear transformation from V to V .

i.e. $I\alpha = \alpha$ and $0\alpha = 0$ $\forall \alpha \in V$ are L.T.

3. Let F be a field and let V be the space of polynomial functions f from F to F , given by

$$f(x) = c_0 + c_1 x + \dots + c_k x^k.$$

$$\text{Let } (Df)(x) = c_1 + 2c_2 x + \dots + k c_k x^{k-1}.$$

Let $f, g \in V$ and $c \in F$.

$$\text{Now } c(f(x) + g(x))$$

$$= c(c_0 + c_1 x + \dots + c_k x^k) + (d_0 + d_1 x + \dots + d_n x^n)$$

Case I, let $k < n$, then

$$c(f(x) + g(x)) = (c c_0 + d_0) + (c c_1 + d_1) x$$

$$+ \dots + (c c_k + d_k) x^k + \dots + d_n x^n.$$

$$\therefore D(c(f) + g)(x) = (c c_1 + d_1) + 2(c c_2 + d_2) x$$

$$+ \dots + k(c c_k + d_k) x^{k-1}$$

$$+ \dots + n d_n x^{n-1}$$

$$= c(c_1 + 2c_2 x + \dots + k c_k x^{k-1})$$

$$+ (d_1 + 2d_2 x + \dots + k d_k x^{k-1}$$

$$+ \dots + n d_n x^{n-1})$$

(2)

Ex 11

Let $k > 1$; then,

$$cf(x) + g(x) = (c_0 + d_0) + (c_1 + d_1)x + \dots + (c_n + d_n)x^n + \dots + c_k x^k$$

~~$D(c_0 + d_0 + g_0)(x)$~~

$D(c_0 + d_0)(x)$

$$= c(Df)(x) + (Dg)(x).$$

$\therefore D$ is a linear transformation from V to V .

Note 1 If T is a l.t. from V to W , then $T(0) = 0$

$$\text{since } T(0) = T(0 + 0) = T(0) + T(0).$$

$$\Rightarrow T(0) = 0.$$

Note 2 A linear transformation from $\mathbb{R} \rightarrow \mathbb{R}$ is a straight line passing through the origin (according to our definition).

Note 3 A linear transformation 'preserves' linear combination i.e. $T(c_1 d_1 + c_2 d_2 + \dots + c_n d_n)$
 $= c_1 T(d_1) + c_2 T(d_2) + \dots + c_n T(d_n)$
 $d_i, \dots, d_n \in V, c_1, \dots, c_n \in F.$

Th^m Let V be a vector space over F . Let $\dim V = n$ and $\{\alpha_1, \alpha_2, \dots, \alpha_n\}$ be an ordered basis for V . Let W be another vector space over the same field F and $\{\beta_1, \beta_2, \dots, \beta_n\}$ be any vectors in W . Then \exists unique linear transformation $T: V \rightarrow W$ s.t.

$$T\alpha_j = \beta_j, \quad j = 1, 2, \dots, n.$$

Proof Let $\alpha \in V$, then $\exists c_1, c_2, \dots, c_n \in F$ s.t.

$$\alpha = c_1\alpha_1 + c_2\alpha_2 + \dots + c_n\alpha_n.$$

Now let us define

$$T\alpha = c_1\beta_1 + \dots + c_n\beta_n. \quad \rightarrow (1)$$

Then T is well defined. Since T associates with each $\alpha \in V$ a vector $T\alpha \in W$.

\therefore From (1) it is clear that $T\alpha_j = \beta_j$ for $j = 1, 2, \dots, n$.

Let us now try to prove that T is linear.

Let $\beta \in V$, then $\exists d_1, d_2, \dots, d_n \in F$ s.t.

$$\beta = d_1\alpha_1 + \dots + d_n\alpha_n.$$

Let $c \in F$.

$$c\alpha + \beta = (cc_1 + d_1)\alpha_1 + \dots + (cc_n + d_n)\alpha_n.$$

$$\therefore T(c\alpha + \beta) = (cc_1 + d_1)\beta_1 + \dots + (cc_n + d_n)\beta_n. \quad [\text{by (1)}]$$

Again, $c(T\alpha) + T\beta$

$$= c(c_1\beta_1 + \dots + c_n\beta_n) + (d_1\beta_1 + \dots + d_n\beta_n)$$

$$= (cc_1 + d_1)\beta_1 + \dots + (cc_n + d_n)\beta_n$$

$$\therefore T(c\alpha + \beta) = c(T\alpha) + T\beta$$

i.e. T is linear.

Uniqueness

Let T_1 be another L.T from $V \rightarrow W$ s.t.

$$T_1(\alpha_j) = \beta_j, \text{ for } j=1, 2, \dots, n.$$

Then for vector $\alpha = \sum_{i=1}^n c_i \alpha_i$, we have

$$T_1 \alpha = T_1 \left(\sum_{i=1}^n c_i \alpha_i \right)$$

$$= c_1 T_1 \alpha_1 + \dots + c_n T_1 \alpha_n$$

$$= c_1 \beta_1 + \dots + c_n \beta_n.$$

$\Rightarrow T_1$ is exactly the same rule T .

i.e. the linear transformation is unique. Hence the result.

Defn

Let $T: V \rightarrow W$ be a linear transformation.
 V and W are the v.s over the same field F .
The null space of T is the set defined as
 $\{ \alpha \in V \mid T\alpha = 0 \}$.

Rank of T

Let $T: V \rightarrow W$ a linear transformation.
Let $\dim V = n$. Then rank of T is
denoted by $\text{rank } T$ and defined as
 $\text{rank } T = \dim(\text{range of } T)$.

Nullity of T

Let $T: V \rightarrow W$ a linear transformation.
Let $\dim V = n$.
Now nullity of $T = \dim(\text{null space of } T)$.

Note: The null space of T is a subspace of
 V .

Sim $T(0) = 0$ i.e. $0 \in \text{null space of } T$.

$$T(c\alpha_1 + \alpha_2) = cT(\alpha_1) + T(\alpha_2) \quad (\alpha_1, \alpha_2 \in \text{null space of } T)$$
$$= c \cdot 0 + 0 = 0$$

i.e. $c\alpha_1 + \alpha_2 \in \text{null space of } T$.
Hence the result.

Q

13/04/2020

Theorem

Let V and W be ~~the~~ vector spaces over F . Also
let $\dim V = n$. $T: V \rightarrow W$ a linear transformation
then, $\text{rank}(T) + \text{nullity}(T) = \dim V$.

Proof

Let us denote

$$\text{nullity}(T) = N(T)$$

$$\text{Rank}(T) = R(T)$$

Let $\{\alpha_1, \dots, \alpha_k\}$ a basis for the null space
of T and since $\dim V = n$ \exists vectors
 $\alpha_{k+1}, \dots, \alpha_n$ s.t. $\{\alpha_1, \dots, \alpha_n\}$ a basis
for V .

Now clearly $\{T\alpha_1, \dots, T\alpha_n\}$ span range
of T . Now since $T\alpha_i = 0$, $i=1, \dots, k$,
actually $T\alpha_{k+1}, \dots, T\alpha_n$ spans range of
 T .

Now we show that $T\alpha_{k+1}, \dots, T\alpha_n$ are linearly
independent.

for scalars c_{k+1}, \dots, c_n we have

$$\sum_{j=k+1}^n c_j T\alpha_j = 0.$$

⊙

$$\Rightarrow T\left(\sum_{j=k+1}^n c_j \alpha_j\right) = 0 \quad [\because T \text{ is linear}]$$

$$\Rightarrow \sum_{j=k+1}^n c_j \alpha_j \in \text{null space of } T$$

$$\text{Let } \alpha = \sum_{j=k+1}^n c_j \alpha_j$$

Again since $\{\alpha_1, \dots, \alpha_k\}$ - a basis for the null space of T , we have

$$\alpha = \sum_{i=1}^k d_i \alpha_i$$

$$\therefore \sum_{i=1}^k d_i \alpha_i - \sum_{j=k+1}^n c_j \alpha_j = 0$$

Now since $\{\alpha_1, \dots, \alpha_n\} \rightarrow$ basis for V

$$d_1 = \dots = d_k = 0 = c_{k+1} = \dots = c_n$$

$$\Rightarrow T \alpha_{k+1}, \dots, T \alpha_n \text{ are l.i.}$$

$$\text{i.e. } R(T) = n - k$$

$$N(T) = k$$

$$\Rightarrow R(T) + N(T) = \dim V$$

then the theorem.



Solⁿ If A is an $m \times n$ matrix over the field F , then
 $\text{row rank}(A) = \text{column rank}(A)$.

Prove it.

Problem: Is there a L.T. T from \mathbb{R}^3 to \mathbb{R}^2 s.t.
 $T(1, -1, 1) = (1, 0)$ and $T(1, 1, 1) = (0, 1)$?

Solⁿ NO.

Since $\dim \mathbb{R}^3 = 3$ and

$\{(1, -1, 1), (1, 1, 1)\}$ is not basis of \mathbb{R}^3 .

Moreover, if

$(x, y, z) \in \mathbb{R}^3$ and

Let T be a L.T. from \mathbb{R}^3 to \mathbb{R}^2

$$\begin{aligned} \text{NW } T(x, y, z) &= c_1 T(1, -1, 1) + c_2 T(1, 1, 1) + c_3 T(0, 0, 1) \\ &= c_1 (1, 0) + c_2 (0, 1) + c_3 T(0, 0, 1). \end{aligned}$$

Then we need $T(0, 0, 1) = ?$

and hence the result.

Problem: 9f $\alpha_1 = (1, -1)$, $\alpha_2 = (2, -1)$, $\alpha_3 = (-3, 2)$
 and $\beta_1 = (1, 0)$, $\beta_2 = (0, 1)$, $\beta_3 = (1, 1)$ is there
 a linear transformation $T: \mathbb{R}^2 \rightarrow \mathbb{R}^2$ s.t. $T\alpha_i = \beta_i$
 for $i = 1, 2$ and 3 ?

[Faint handwritten notes and calculations, including matrix representations and vector operations, are visible but mostly illegible due to blurriness.]